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PART A: Grammar& Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

76- It's the photo of the man ----------nne- in our apartment last year.

1) that he lives 2) who lived 3) who he lived 4) that lives
77- Jimmy doesn't have a car, -------==mnuumx he goes to work by bus.

1) and 2) but 3)so 4) when
78- IfI were on the moon now, I --------neeev- the photographs of the earth.

1) would take 2) will take 3) took 4) have taken
79- Nowadays I can't go to Galatasaray matches because I have ----------=--—- money.

1) very little 2) some 3) alot of 4) very few
80- The actor ------------—-- you watched at the theatre last night is a famous player.

1) which 2) whose 3) where 4) who
81- Everyone here has a role to ---—---------- our small group.

1) show 2) produce 3) support 4) cause
82-  While you are asleep, the bodily --------------- slow down and body temperature falls.

1) moments 2) imaginations 3) habits 4) functions
83-  This book serves as a bridge between --------------- world and modern science.

1) common 2) ancient 3) valuable 4) special
84- This time I hadn't -----------—--- my money yet, so I needed to change Rial into Dollar.

1) arranged 2) converted 3) recognized 4) generated
85- I was surprised by the --------------- of choices that were available.

1) variety 2) device 3) power 4) meaning
86- What is the value of a/an ---------ee-—- home in this area of the city?

1) available 2) famous 3) effective 4) average
87- It had snowed --------------- during the night and in the morning the garden was completely

white.

1) widely 2) increasingly 3) heavily 4) immediately

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Living in another country will help you learn a language and learn about the culture of
another land. You will see the world in a new way and learn more about yourself. Studying
abroad is also (88) ----------mmn-- training for the working world. Many companies today want
employees who speak a (89) -----------m-—- language or who have experienced living or
working in another country.
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88-
89-
90-

91-

92-

93-

94-

96-

PART C: Reading Comprehension
Directions: Read the following two passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct ¢

Be curious and open to meeting new people and having new experiences. Don't expect to
always be comfortable. (90) --------------- to feel a little homesick. You'll miss your family and
friends. (91) --------------- it takes time to get used to a new place with new customs. Talk to
your new friends and write about your feelings. Try to keep in touch with the people back
home. Always keep an open mind and you'll (92) --------- .

1) formal 2) general 3) excellent 4) direct
1) second 2) systematic 3) comprehensible 4) famous
1) After first a few weeks usual it is

2) After the first few weeks it is usual

3) After a few first weekKs it usual is

4) After first few weeks usual it is

1) That remembering 2) That remember
3) Remembering that 4) Remember that
1) imagine 2) forgive 3) discover 4) succeed

hoice on your answer sheet.

PASSAGE 1:

[ started blogging to keep in touch with friends and family when I went away to college. I had a
lot of friends who knew about technology, and they were all blogging. A friend who knew about
web design helped me and away I went from there. My first entity weren't about anything in
particular but I've changed my blog a lot. About two hundred people read my blog regularly now.

I didn't know the word 'blog' before college, but then I realised that I actually had one with
a friend when I was at school. We posted pictures and lots of other stuff on the Myspace
website. My blogging has changed a lot since then. Now I focus on certain topics such as the
latest technology, internet links that I like and my journalism course. My blog is also where I
discuss books I am reading. When I go travelling on holiday, I post pictures of my trip.

My second blog is for my news writing class. All of us have got news blogs. It's a great
way for the class to learn and share things with each other. The blogs give us a way to
communicate outside the classroom. I actually have blogs for four of my five classes. Three of
them are group blogs. I love using new forms of communication; it makes the learning
experience much more interesting and valuable.

In this text, the author talks about ---------------

1) how he uses blogs 2) what blogs are

3) the development of blogging 4) the advantages of internet technology
How has the author changed his personal blog?

1) He posts more entries. 2) He now shares a blog with a friend.
3) He has just got a new blog design. 4) He concentrates on particular themes.

What does the author say about blogging before college?

1) He didn't know how to post things on the internet before college.
2) He had a photo website but not a blog.

3) He had a blog but didn't call it that.

4) He wasn't interested in blogging then.

What does the author think of class blogs?

1) They make the learning experience more individual.

2) They're a good way to learn about technology.

3) They improve the learning experience.

4) They're good fun.
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PASSAGE 2:

Last month I got the chance to take part in an underwater research project in an area of the
Gulf of Mexico called the Flower Gardens. A team of professional researchers, led by the
scientist Dr. Matt Phillips, was trying to learn more about the fish and various creatures that
live in this part of the sea. The Flower Gardens are a long way from the shore and we spent
three days on a boat.

The team used a piece of underwater equipment called a Remotely Operated Vehicle
(ROV) to collect information. The ROV could measure water depth and temperature and it
also had a camera that sent live film back to the boat. The ROV was great fun. It was
controlled by a computer on the boat, and I was allowed to operate it a few times.

However, the thing I enjoyed most was diving into the water. At first, I was quite
frightened — mainly because I couldn't see land in any direction. But as soon as I jumped into
the water, I wasn't afraid anymore. It was amazing to see the colourful fish swimming around
and I could see all the way to the Flower Gardens, which are almost 30 meters down.

I will never forget the Flower Gardens. The trip was like a holiday but I also learnt new
things about science and research projects. The team was very friendly and happy to explain
what they knew about the sea. It was a great opportunity and it has made me think about my
goals in life. The experience will definitely help me work harder to become a scientist.

97- The author, in this text, is —--——-=-mamam-
1) explaining how to apply for a place on a science trip
2) describing the part he played in science project
3) giving advice on understanding difficult areas of science
4) encouraging others to organize their own science projects
98- What does the author say about the ROV?
1) It was difficult to operate.
2) It recorded what was happening under water.
3) It was an expensive piece of equipment.
4) It could only go so far under water.
99- What was the author's idea about diving?
1) His feelings changed once he was in the water.
2) His main worry was losing sight of the boat.
3) He enjoyed it less than other parts of the trip.
4) He was quite disappointed by the variety of fish.
100- Under the effect of trip, the author ------—---aan-- .
1) was interested more in the sea 2) changed his opinions about science
3) improved the way he worked in a team 4) was encouraged to work towards his goals
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PART A: Grammar

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

101-

102-
103-
104-
105-
106-

107-

108-

109-

110-

Maria asked us --------------- her article on the importance of freedom.

1) if we will read 2) that did we read

3) whether we had read 4) that if we had read

Students --------------- to see the museum of insects can spend more time at the library.
1) not wanting 2) don't want 3) to not want 4) that not want
The hospital requested that the father --------------- a name for the birth certificate.

1) provide 2) provides 3) providing 4) be provided

She will have to explain her actions and defend them before the disciplinary committee
if = her job back.

1) that she wants 2) she is to get

3) she be getting 4) what she wants is

When the teenager was caught driving the stolen car, he --------- the influence of alcohol.
1) found to be on 2) found being under

3) was found being on 4) was found to be under

I'm really interested in keeping stick insects. I've read ----------- I can find on the subject.
1) any single information 2) a piece of informations

3) every scrap of information 4) many amounts of informations

I have several friends, --------------- grew up with me.

1) two friends 2) whom they

3) two of whom 4) who two of them

If I ———emmmmmemeeee so much at dinner earlier, I would feel better now.

1) didn't eat 2) hadn't eaten 3) haven't eaten 4) weren't eating
Playboating, a discipline of whitewater rafting or canoeing in which players stay in one
spot while performing certain maneuvers, --------------- specialized canoes designed for
the sport.

1) involve 2) involves 3) involving 4) that involved
Marta didn't know --------------- when she went to the restaurant for dinner.

1) to expect 2) what to expect 3) if she expected  4) that expect what

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

111-

112-

113-

114-

115-

116-

He believes he's innocent and he's continuing the fight to --------------- his name.

1) correct 2) refine 3) make 4) clear

I know this is a lot of information to --------------- all at once. You'll need time to absorb it all.
1) take in 2) put up 3) carry on 4) fall under

The --------------- of being in prison made her hate society even more.

1) relics 2) quotes 3) battles 4) constraints

By the end of the storm, the hikers had --------------- even their emergency stores.

1) depleted 2) reserved 3) sacrificed 4) retrieved

Looking directly at the sun, even for very -------—-------- periods, can cause serious eye damage.
1) enormous 2) medical 3) brief 4) tense

One of the two assistants will likely get fried, since most of their duties in the office

1) evolve 2) overlap 3) navigate 4) fascinate
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117-

118-

119-

120-

121-

122-

123-

124-

125-

Online social networking has had --------------- effects on the way we communicate.

1) immense 2) eradicable 3) competitive 4) residential

For a typical family, their home is their most valuable --------------- and their car is the
next most valuable.

1) root 2) vision 3) asset 4) misconception
Before you write an essay, you should plan it first and give a --------------- description
without giving much detail.

1) precise 2) definite 3) gradual 4) broad

The college library is -------=------- for the use of students and staff.

1) safely 2) presumably 3) comparatively 4) exclusively

It is of -----------mm- importance that we make more use of technology if we are to make
progress. ‘

1) proper 2) crucial 3) emphatic 4) ambiguous

It is a fact that women are still the main --------------- of domestic violence.

1) victims 2) scenes 3) threats 4) offenders

Good parents are --------------- both to the physical and emotional needs of their children.
1) basic 2) wonderful 3) sensitive 4) balanced

It is logical to --------------- neutral in a violent argument between spouses.

1) remain 2) contain 3) prevail 4) cease

The speaker has that rare ability to --------------- complex ideas in the kind of language
everybody can understand.

1) try on 2) cling to 3) get across 4) come up with

PART C: Sentence Structure

Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.

126-

127-

128-

129-

1) A colorful poster is on the wall which it consists of a group of young people who
dance.

2) On the wall, there is a colorful poster which consists of a group of young people
dancing.

3) A colorful poster is there on the wall which a group of young people are dancing in.

4) On the wall, a colorful poster is there consisting of a group of young people that
they dance.

1) Lately, so hard to me is concentration.

2) Lately is concentration so hard to me.

3) Lately, it's been so hard for me to concentrate.
4) Lately has it been so hard for me to concentrate.

1) After a 1991 attempt to overthrow Gorbechav failed, power shifted to Boris Yeltsin.
2) A 1991 attempt to overthrow Gorbechav failing, power was shifted to Boris Yeltsin.
3) In 1991, after attempt to overthrow Gorbechav was failing, power was shifting to

Boris Yeltsin.
4)In 1991, after a failed attempt to overthrow Gorbechav, power had shifted to Boris Yeltsin.

1) Some people ask changes to allow more tourists access.

2) Some people are asked to allow for tourists more access.

3) Some people asking for changes allowing more access for tourists.

4) Some people are asking for changes that allow more access for tourist.
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130-

1) Due to sufficient remaining funds, the teacher's request most likely approved by the
school board.

2) Since sufficient funds remaining, the teacher's request will be most likely approved
by the school board.

3) Provided sufficient remaining fund, the teacher's request most likely will be approved

by the school board.
4) If there is sufficient funds remaining, the teacher's request will most likely be

approved by the school board.

PART D: Language Functions
Directions: Read the following conversations between two people and answer the questions

“about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

131-

132-

133-
134-

135-

136-

137-

138-
139-

140-

A: It was nice meeting you.
B: Yeah. We should (131) --------------- later.
1) look exhausted  2) hang out 3) stay put 4) get even

A: Hey Jack. You look tired. What's going on?

B: It's finals week and I (132) --------------- A

A: Looks like you (133) --------------- a tough week.
B: (134) ----------=---- :

1) have to pick up the syllabus for my class

2) have been up all night studying

3) have taken this side of the room

4) don't mind keeping up

1) are in for 2) are up to 3) keep after 4) see through
1) Tell me about it 2) Don't mention it

3) Thanks for the info 4) That's a great start

A: If you need help with your chemistry class, I can help you over the weekend.
B: You don't know how much --------------- . Thanks.

1) this means to me 2) of a break I need

3) I get manipulated like this 4) you're putting words in my mouth
A: Were you expecting cold weather?

B: Yes, but it --------------- to be very warm.

1) changed hands 2) wrapped up 3) handed in 4) turned out

A: You smoke cause you're bored?

B: Yeah. It helps to (137) -----------—--- . I also think it's (138) --------------- habit. I'm so
used to having a cigarette (139) --------------- :

A: I really think you should quit!

1) let it pass 2) get a life

3) kill the time 4) keep the ball rolling

1)in on 2) out of 3) as for 4) all over
1) all at once 2) up to no good

3) once upon a time 4) every now and then

A: She worries about things all the time.
B: Yes, her problem is that she can't --------------- .
1) take her time 2) sort them out 3) fix them up 4) switch off



PART E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

141-
142-
143-
144-

145-

146-
147-
148-
149-

150-
151-
152-

153-
154-
155-

In order for any natural population to survive, it must (141) ------mmmmmm- a "critical
number" of whatever species makes up the population. If animals (142) ---------------
that species drop below a certain number, the species will (143) ---------------
extinction. In order to maintain this critical number, the species needs a certain amount
of area (144) ------------- —-. This minimum area should be (145) --------------- to
compensate for years of bad weather. (146) --------=-=---- , animals that live in larger
habitats may struggle during seasons or years with poor weather. They must travel far
and wide through the larger area to find the food needed to get through (147) ---------- .
However, in a smaller, fragmented habitat, a harsh winter or a season or two with
much lower than average (148) --------------- can kill off a species, as finding food
becomes problematic during such times. Simply put, in smaller areas, there is not
enough food to go around during the lean times.

Habitat fragmentation also causes (149) --------------- edge effects. When a border is
created between a natural habitat and developed land, the ecosystem within the natural
habitat is affected. A forest's ecosystem may, for example, be affected when it
(150) -----===mm---- 4 land where the trees have been cut down. Sunlight penetrates the
former forest's-interior, (151) --------------- more quickly. The drying-out process then
affects the border areas of the remaining forest, causing them to dry out as well. The
forest's interior is shadier, more humid; and (152) -------===---= than at the edges. The
climate toward the edges, (153) --------------- _ is windier and has more sunlight due to
its (154) --------------- to the developed land, (155) --------------- has been cleared and
exposed to more climate changes. This all has the effect of drying out the edges of
forests to a sometimes dangerous degree.

1) vanish 2) approve 3) portray 4) maintain

1) on 2) with 3) under 4) within

1) go 2) get 3) face 4) cause

1) for live 2) where they live

3) in which to live 4) that they can live

1) great enough in size 2) of enough great size

3) in great size enough 4) of a great enough size

1) Nevertheless 2) For example 3) Ever since 4) So far

1) difficult time 2) difficult times 3) time of difficulty 4) difficulty of times
1) emission 2) generation 3) precipitation 4) contamination

1) what are known as 2) what is known

3) what is it known as 4) what they are known

1) centers 2) inspires 3) contacts 4) borders

1) drying it up 2) drying up it 3) to dry it up 4) to dry up it

1) the air more still 2) more still the air

3) still the air more 4) the more still air

1) that is 2) in addition 3) in other hand 4) on the other hand
1) probability 2) proximity 3) flexibility 4) susceptibility

1) which 2) that it 3) then it 4) in which
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PART F: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

156-

157-

158-

159-

160-

Alexander the Great, the famous warrior king of Macedonia, had conquered much of
Europe and Asia by the time of his death in 323 B.C. During his twelve-year reign as
king, he spread Greek culture throughout the lands he conquered-an influence that, in
fact, far outlived the life of the great king. Historians generally mark the year of his
death as the starting point of the Hellenistic Age (323-31 B.C.), an era marked by the
spread and integration of Greek culture into the conquered lands beyond Greece.

A number of major scientific breakthroughs occurred during the Hellenistic Age.
The Egyptian city of Alexandria attracted prominent Greek scholars because of its
research library and museum. The museum housed a small observatory where
astronomers could study the heavens. It was here, through his careful examination of
the cosmos, that the Greek astronomer Aristarchus developed two significant
astronomical theories. Opposite to the prevailing theory of the day, Aristarchus boldly
determined that the Earth was smaller than the sun. He further concluded that the
planets revolved around the sun, and not the other way around, as most people then
believed. In addition to Aristarchus's discoveries, Eratosthnes, another Greek scholar,
correctly determined that the circumference of the Earth is roughly 25,000 miles. As
the director of Alexandria's library, Eratosthnes researched different theories about
geometry to help him determine Earth's size. He used a text written by the famous
mathematician Euclid that included significant concepts in geometry. With the help of
Euclid's book, other scholars were also able to build formulas and concepts concerning
the size of certain objects.

The arts flourished as well during the Hellenistic Age. Sculptures were created
during this period that honored Greek gods and heroes and portrayed people in
everyday situations, some of which were enormous in scale. The Colossus of Rhodes
was the largest known statue during the Hellenistic period. The 105-foot bronze statue
was on the island of Rhodes, and historians believe that this gigantic statue might have
served as a lighthouse for the island.

Why does the author write about Alexander the Great at the start of the passage?
1) To praise his military conquests

2) To discuss the spread of Greek lands

3) To explain the starting point of an era

4) To name one of the many warrior kings who lived in the Hellenistic Age

The word "integration' in paragraph 1 is closest in meaning to ---------------

1) imposition 2) influence 3) development 4) combination
During the Hellenistic Age, Alexandria was home to many scientists due to --------------- b
1) its small observatory 2) its location in Egypt

3) its library and museum 4) the presence of Aristarchus there

It can be understood from the passage that, before Aristarchus, it was a common
conception that --------------- ’

1) the earth was the only planet 2) the sun was larger than the earth

3) the sun revolved around the planets 4) the sun was closer to the earth

Which of the following best describes the author's attitude toward the Hellenistic Age?
1) Negative 2) Favorable 3) Critical 4) Objective
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PASSAGE 2:

Within weeks of showing up for her freshman year at Long Island University in New
York, strange things started happening to Tamara Rabi. Strangers would smile and
wave at her, then walk away peeved when she told them she didn't know them. "They
must have thought I was crazy," says Rabi, 20. "Sometimes they'd ask me 'Do you
have a twin sister?' And I'd say 'No."

Just down the road at Adelphi University, Adriana Scott kept hearing similar
questions about her dead ringer at Hofstra. Nudged by friends, the young women got
in touch by e-mail and discovered they both had been born in Guadalajara, Mexico,
and adopted. Then Adriana's mother, Diana Scott, dropped a bombshell: When she and
her late husband Peter, a vice president at a moving company, adopted her, they knew
she had a twin who at the time was unavailable for adoption. Adriana's discovery was
a moment I'd dreaded for 20 years, says Diana, a receptionist.

While the Scotts raised Adriana in the Long island suburbs, tamara's adoptive
parents, Yitzhak and ludy Rabi, who didn't know she was a twin, brought her up in
Manhattan. "My family was very cautious." says Tamara, who learned about Adriana
shortly after Yitzhak had died at age 58. "Even after they saw her photo, they had
doubts. I was, like, 'C'mon guys, the picture looks exactly like me!'

Late last year, the girls agreed to meet on neutral ground at a local McDonald's and
discovered that practically the only noticeable difference between them was a small
birthmark above Tamara's right eyebrow. "Her voice was what got me." says Adriana.
"I just sat there in shocks". Even their mothers had trouble telling them apart.

The passage primarily discusses --------------- .

1) a family that decided to adopt twins

2) two girls who turned out to be great friends

3) the reunion of twin sisters separated at birth

4) the story of two strangers who looked exactly alike

It can be understood that the reason strangers would smile and wave at Tamara was

1) everyone knew Tamara's story except herself

2) they would confuse her with her twin sister

3) they wanted to drive her crazy

4) they knew her because of her sister

The phrase '"the young women'' in paragraph 2 refers to --------------- ;

1) Adriana's friends 2) Tamara and Adriana

3) Tamara's and Adriana's mothers 4) students at Adelphi university
Which of the following statements is true about Adriana or Tamara's parents?
1) The Scotts lived in Manhattan.

2) Tamara's parents had seen Adriana.

3) Adriana's mother knew Adriana had a twin sister.

4) Yitzhak died when he heard about Tamara's twin sister.

Adriana's feeling after seeing Tamara at McDonald's can be best described as ---------- .
1) fear 2) despair 3) surprise 4) excitement

PASSAGE 3:

Contemporary water treatment methods allow goverments to treat water infested with
potentially harmful bacteria and make it drinkable. While these methods make tap
water entirely safe to drink, it is not practical to treat all of the world's surface water in
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this fashion. Thus, people who use untreated water-for recreational purposes are at risk
of ingesting harmful bacteria. As a solution, the British government and a number of
other countries within the European Union are working together. Their goal is to
produce a method that can be employed to prevent bacterial contamination of lakes,
rivers, and oceans.

This method, however, does not actually cleanse the water. Rather, it is used to
evaluate which areas in a region may contribute to water contamination. It is especially
useful near agricultural regions. These areas are where contamination is most likely to
occur. Large amounts of animal waste in these areas increase the possibility of harmful
contaminants making their way into water. This new method will be used to test the
agricultural regions and determine where preventative measures are needed.

Due to the high amount of animal waste used and produced by the agriculture
industry, analysts have adjusted their efforts specifically to such areas. When
precipitation occurs near facilities that hold animals, it is possible that contaminants
will be picked up from waste material and run into water sources. In addition, many
vegetable farmers may use animal waste to fertilize their fields. This can also
contaminate runoff water. As these processes are necessary to provide food for a
country, it is impossible to stop them entirely. Instead, these new methods are being
employed to locate particular spots that are most likely to cause contamination.

What does the passage mainly discuss?

1) Preventing contamination in water supplies

2) Potential risks of using untreated water

3) Animal waste in agricultural regions

4) Various factors contaminating lakes, rivers, and oceans

The reason why European governments are looking for an alternative water treatment
method is --------------- ,

1) safety of their tap water has been recently questioned

2) some newly found harmful bacteria are putting people at risk

3) the conventional methods cannot convert salt water into fresh water

4) treating all surface water by the conventional methods is impractical

The method discussed in paragraph 2 is used to --------------- 5

1) cleanse the water in agricultural regions

2) detect the areas which may produce water contamination

3) prevent harmful contaminants from getting into water

4) reduce accumulation of animal waste near farms

The word ""measures' in paragraph 2 is closest in meaning to --------------- .

1) actions 2) samples 3) evaluations 4) substances
According to paragraph 3, all of the following are true of water pollution EXCEPT
1) using fertilizers in farms can lead to it

2) animal waste is a major contributor to it

3) it can be the consequence of runoff water picking up contaminants

4) it specifically occurs in agricultural regions due to the abundance of harmful chemicals

there
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